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S women and 9 girls earn a total of
318,720 in 9 days, while 9 women
and 16 girls earn a total of X 52,080

in 14 days. How much will 12 wome
and 7 girls together earn (in ) ié

days?!g!wlm
5 At 3R 9 wefdhdi 9 R § G TN
18,720 HHANH B, 9P 9 HZAW 3R 16

sl 14 &l § §o ©IY 52,080 FANI & |
1zﬂ%awaﬁ?7a€mﬁaﬁ13ﬁ=ﬁﬁr

fa=T e (/9 #)?
@) A2£10 X (b) 41990X

(c) 42380 X ) 42120 V'~



An electronic store owner allows two
successive discounts of 20% and
25% on each item. The store has a
reward points scheme which enables
a customer to get free shopping

worth 0.10 on every 1l reward point
credited\to the, custgser’s account
on previ o ases from the

store. A customer decides to buy a
laptop that is marked at I72,000.

What yui e its net selling price if he

has ard points to his
sk o

credit

U SAdeid TR B Alfcid Tdd I8 W
20% 3R 25% @I A HAP Be <l B
®R ¥4 e Rdie dige dqiomr 8 o I8d 3
TR 9 ol @ReRl R UEd & @ H



qSQOO
Q8S

o1 6T T T@ 1 RafeS dige W HIY 0.10
P 0 TIRR B W 9EH T 8| U@
UEP [P olyciy WRigd &1 Dacll Hdl &
e dma S 72,000 3ifed 8| I SO

ard # 2850 Rafe Ufge & o g9 Yg fahg
T T BATT?

(a) Rs 43,200 ﬂz,glg_

(c) Rs 42,215 (d) Rs 42,942



If the simple interest at the same
interest rate on ¥500 for_4 years and

X700 for 2 years, combined together, is

<280, phen what is the rate of interest?

Ife 4 a9 & foru S 500 3R 2 9 & forv
W 700 W G &9 ¥ W GHRY &9

TPy BUY 280 &, O TS @ X T 87
ol 65

(e i

A"\’B’Y\‘U\Kq,

(dlL
aef @ ERE M‘@\'



Two friends P and Q simultaneously start
running from same point around a
circular track. They run in the same
direction. P runs at 6 m/ sec and Q runs
at G’-- €y Cross each other at

exactly two points ack

ana- T a natural number less than 6,
then how many values can b take?

A fi’la AR B
Md}u.% at dustmck f’L 1 ﬁqﬁ? ﬁqggw mera; 3

— 3 )(%"3) F°‘“+5w€r;1m@1%ﬁaﬁsﬁ%‘. p 6 firie /AFS #
— = Ty & a8 SR Q, b Wex/Wdbs A AN
— 7(Xw)?wﬁﬂ3m%laﬁﬁmwwa$a‘r
(a) 2 q( fgelf R U SER Bl BIcd § 3R b 6 | A

1 :
et e gm?ﬁtﬁﬁﬁm%.a‘rb A o bl
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An inlet pipe can fill an empty tank in
140 hours while an outlet pipe drains a

g X8F= mﬁ)letEIy-ﬁlours u
inle es and m re opened
(3 1Reo Rox ey T by

tank gets completely filled in
105 hours. Find the value of y.

TP goic UISY Wlell ¢d I 140 8 H WN
HHdl & Sdfd (P ATSceic gy QR avg 9
W Sh Bl 63 ©S ¥ Well R GPpdl g | IfS
CPH Wil 89 WX 8 SAdc URY 3R y

JTSCoc UIsY U 91 Wil o & o ¢
105 €¢ H T8 TRE W gl y &AM G
DITOTT.

(a) 1 (b) 4

(c) 2 LAd) 3




A man takes 15 minutes to row 16 km
downstream, which is 25% less than the
D U time he takes to row same distance

upstream. How many kilomet e
T 3 H man row in an hour in(still water
(Rounded off to nearest whole n T

S Y @ Il B AW D g 16 Bl g T
& H 15 fAise o €, o R @ fawdia

A X T9 XA § M dlel 999 9 25%

g\ Y &9 2| U afe wd I ¥ Uh EHe F fha
fhariiey a@ T g dhar 87 (Mecaq gob

-UZL'—\} :f 1:Lljﬂtma:)b_?o

(c) 58 (d) 54



On a circular path of 693 m, Sujata and

Anjali start walking from the same point
but in the opposite directions at the
speed of 2.85 km/h and 1.5 m/sec,
respectively. When they will meet for the
fitas; time?

Wﬁ ® AR T W, G AR sfoifer

ﬁﬁﬁﬁﬁuﬂaﬁmﬂ‘rﬁmz

SN X
© “xmg_‘r l gﬁ'&b XAfter 6.75 minutes as\

)6 After 6.05 minutes

Ccl3 After 5.04 minutes
|3.‘f§ ) After 4.56 minutes V




B A, B and C run simultaneously, starting

P \ from a point, around a circular track of

é (1 length 1200m, at respective speeds of

2m/s, 4m/s and 6m/s. A and B run in

the same direction, while C runs in the

opposite direction to the other two.

After how much time will they meet for
the first time?

A, B 3R C 1200 HIeR &4 (P TABR Sb D
Wt ok 7 fig @ 7o o 2 diew/Jas

\Jxﬁo minutes (b) 9 minutes



.Suhani pays tax at the rate of 30% on

her entire income of Rs 9678666~ and
Ritika pays tax at the rate of 40% on her
entire income of Rs y. If the gverall tax,

mée.on their combined income comes to
@- en what is the value of y?

qET 310+ 90,000 ¥9Y Bl T I W 30%
B R W PN YA Rl & AR Rfcra
AT y BUY DI T AT W 40% DI X A
B BT YAH Bl o | IS ST GIH I
W?ﬁﬂﬂﬁﬁ37%ﬂﬁﬁ§,ﬁy.${ﬂﬁ‘l
T 57

(a) Rs 2,04,000‘ (b) Rs 2.16,000 X

(c) Rs 2,13,000 Rs 2,10,000



&
12 men axll'g 16 boys can do a piece of
WOrE 1 5 days, while 13 men and 24

H

boys can do it in 4 days. In how many
M:_ % 6 days can 29 men and 22 boys complete
2 the work? RB

12 JTEHT 3R 16 TSh UH dM & 5 e ¥
T GPHd 8, T&id 13 JEH! 3R 24 s A
4 i 5 HR Gabd B | 29 ATEH 3R 22 TSP

99 M @I foa A # [ X ¥dhd 87
sz: (b) 2.45

(c) 2.6 (d) 2.4




A person took a loan at 5% per annum
simple interest during the first year and
with an increase of 0.5% simple interest

every year from the second 2ar
onwards. After 4 years, he paid R
as_a_ total interest to settle the Idan
completely. How much was the loan?

Uh ARh 4 U8l 94 & SR 5% WUfd 9§
HERY &7 R %07 forar iR R af 9 &
¥ 0.5% WERY A6 1 Jf§ & I R0

forar| 4 91 @ 91g, S/ WU B QR RS
H gapM @ oY & 19T & ©U H 4,600 TU

BT HTa far | aF <l Far & CZIMG!\@MH
%) Rs 20,000 (b) Rs 19,000
(c) Rs 18,000 (d) Rs 21,000



During a division, pranjal mistakenly

: . took as the dividend a number that was

Dvs¥ DMM Qugfermd 10% more than the original dividefl. He
also mistakenly took as the divisor a

number that was 25% more than the

original divisor. If the correct quotient of
eﬂMANMdD' the original division problem wa@and

the remainder was 0, what was the

) ) M. : 4 Usp & o off of o fawifora 9
AN 22X 10% 3f¥® & | I/ Tedl H HIoTd & ©U
H’ Q. o U U HET o o o qoT Ao 9 25%
o\ & afrs off| afe Ha fawres 9= &1 H&
a;:QVwmzsmaﬂ?ﬂwaoma‘rm#



T ANTh W1l {61, I8 ad gY fob Swa!
O H Blg FfS T &7

(a) 21.75 (b) 21.25

(c) 28.75 AT 22

©



A six-digit numbr is divisible by 33. If 54
is added to the number , then the new
number formed will also be divisible by:

Jhl P TH GEAT 33 W sy B Ife
——T == ﬁm@eﬁmmﬁﬁﬂémﬂﬁ
A SH__,;amﬁW?Fﬁ.

o3 (b) 2

—
h (c) S (d) 7
- -.-3




On purchase of articels worth Rs 10,000,

a_shopkeeper offers a flat discount of Rs
@ to his customers. Further, by
shopping using a credit card, he gives an
additional discount of 7%. If a customer

purchase article worth R§.10000 using a
credit card, then how much is he/she

required to pay?
_________.——-——'-

10,000 9 Hed B THUY UG W TP
GPHFGR 3T TTEDhI I 500 BUY DI BE adl
2| SHD AT, hiec PHls | WIASR! B WX
qE 7% o AfAfR<H B <ar & A dIg UED
mmwwmmooomm

SY fhder WFEraE ST

(b) Rs 9,000
(d) Rs 9,300

(c) Rs 8,815



A and B are equally efficient, and each

could indiyidually complete a piece of
@ work 1days, if none took any
holiday. A and B started working

together on this piece of work, but A
took a day off after every four days of

)\&rk, while B took a day off after every
five days of work. If the duo had started

work on Ol-August 2022, on which date
was the work completed?

A 3R B WM WU ¥ A g, AR TAS Afh
fhTd 9 | 30 &l 4 b M [ W
el &, e B o B gE T8 o B A
AN B A 39 $M W (S G M AT IO




far, ofdT A 9 R IR &9 & & & 919
gl dl, e BARIA T &
M P 915 U e @ gal o | afs =1 A
01%20223%%3;6%241 dl

(a) 19 August 2022
(b) 17 August 2022

(c) 16 August 2022
(d) 18 August 20(2/




According to Raghav, his weight is more
han 64 kg but less than 74 kg. His
sister does not agree with Raghav and
she thinks that his weight is more than
50 kg but less than 69 kg. His mother's
view is that his weight cannot be more
han 68 kg. His father's view is that his
weight cannot be more than 67 kg. If all
are them are correct in their estimation,
then what is the average of different

robabl ' Raghav measured (in

0 kel? O ml.ﬁi guﬂj)ﬂg_\sc,a
Eq @ SECal 64 el ¥ ur_T
dfdd 74 fbell ¥ H9 8. SHDI 984 6T |

Heqd A8l & 3R 98 9rEal g & SHar auH
60 fhell ¥ 3P afd 69 fHel ¥ o9 2|

K LdH-f (5 & 67




MEF P {9 U RS 9ifad g+ &1 3id
(fretr #) @r 87

\/{ 66 (b) 67 @
(c) 68 (d) 65



: ¢ In a constituency, 85% of the total
3'% MVM number of people on the electoral roll
ast their votes during an election. 10%
the votes cast were declared invalid. If
ere were 3,00,000 people on the
and Dharam secured

F6S (valid)
1,37,700 valid votes, what percentage of

W Solve rf& the total mumber «¢
the total number of wvalid votes did

3
,(,(5 °| Shariim sesusey —

e fafeq &7 4, #aqar g § i g
ARl § | 85% @RN A FAId & IR (YT
g1 el S T 10% aﬁeaﬂaa’rﬁﬁaﬂ

ﬁquﬁwvﬁrﬁ 000 T
(a) 50 £% Q Xuo 2% oA P 1,3 'aq Enﬁ faet,
ph " %'aa‘le’r Wnﬁmﬁaﬁﬁr
C %

A.60.0% —gm?

o 39




(N + 18) persons, each working for 7.5
urs a day, can complete 48% of a work

O days. (N + 12) persons can
N '”2)‘5 plete the remaining work in 30 days,
ch of them works for 6.5 hours per

day. Determine the value of N.

—5‘% (N + 18) &gfth, T¥® &5 7.5 © B T,
| 20 foAl # 48% &M [T & Fhal 2| (N +
12) fth ¥ &4 30 &1 # GRT R HHhd ©,

Ife I 9 yAd ufafeq 6.5 € &M el

QN:%Q 2| N &7 99 ST BT
S (SIS

(c) 20 (d) 22




On day one, with speed v, R covers a
distance x, in t time. On the next day, he
covers a distance 2.5x in 0.75t time.
What is his speed the next day?

Tl o9, M v & 9L R, t 990 § A x
dT &al 8| AT 9, 98 0.75t 9 H
2.5x G XA & | ITA_fa7 Swar




‘47&_];4}: fx\e

The seats for Mathematics, English and
Chemistry in a school are in the ratio of

6 : 4: 7.Jf these seats are increased by
20%,\46\;&1&- 60%, respectively, the
ratio of the increased seats is:

Udh e # IO, UG R wEA s o
e 6: 4: 7 & U 4 2| afe g9 diei |
A 20%, 40% AR 60% @ g I




,Archana took a loan of Rs 78,000 from a

bank on 24t" January 2012 at 8%% per

annum simple interest and paid it back
on 18th June 2012. Find the total
amount paid by Archana. (Ap rm;)mated

to nearest mtegel')(cc[l, Q23
AT A 24 T 2012 B UG 9§ AR
mwwﬁmﬁ'mooommmm

ISTIZOIZH?IWETTHHWI
B T HoA R T

\'ﬁylﬁmﬂmﬂ*mmﬁ)

Rs_80,723 (b) Rs 90, 730 Qr{;)\"na\
(c) Rs_85, 733(d) Rs 88, 730




R lends some money to S on which S

pays Rs 17,000 more to R. S lends_the
same money to T, on which T pays 8.5

more to S. What should_be the minimum

amount (in Rs) that S must borrow so
that he does not incur any loss in the

rocess?

\_4a1"200000  (b) 225000
(c) 180000 (d]170000

longuag T 4¥ &



Aditya buys 300 mangoes for Rs.1,100.
Some of these mangoes are rotten and
are thrown away. He sells the remaining
mangoes at Rs.5 each and makes a profit

of Rs.150. Find the percentage of

mangoes thrown away.

anfesT 3 1,100 $UA ¥ 300 MW @A | =4
¥ §P IM O ¥e gU B g, e ve fam
ST 81 98 99 gY Ml B 5 JuY Afy AW
99aT & 3R 150 JYY BT o HHCT 8| DD

T ITH BT UfATd SITd BT |
10 Eﬂn
(a) 16.E o (b) 153 %

- 1
16 —% d) 16—%
e 1 : (d) 16



A sum of money earns a simple interest
at_7.25% per annum for the first eight
years, at 8 5% for the next six years, and
at 6.5% for the final four ye years. If the
total interest earned during these

eighteen years was Rs 35,100, what was
{ginal sum invested (in Rs)?

3T IR YS! 36 981 @& folv 7.25%
nﬁ‘rfm‘ 3Tl BE 991 & foIv 8.5% 3R 3ifaH
IR q91 d foIU 6.5% &I ¥ q R T
frerar 21 I 39 3oRE a6l @& aRM Afora
$el &Sl 35,100 ¥UY o, d fAdwr &1 g
qat <7 (Pud #) T=r 2fY?

(a) 25800 /a(bp 25500 2~
(c) 26400)0 fn’z_qgoo




Ifa:b:b:c,and b = 96 then which of
the following can be a possible pair of
values of a and c?

i a:b:b:c 3R b=96 & O A=forRaa
ﬁﬁﬁﬁmaaﬂvca?mﬁ'ﬂmﬁaw
éTiﬁﬁar%?

(a) a = 24 C = 374
(b) a = 32/;_2\83

(d)a 16; ¢ = 586



The cost of S0 dozens of bananas is Rs
2,400 and the transport cost per banana
is Rs 0.25. The selling price is Rs 10 for
a pair of bananas. What is the profit
percentage (rounded off up to one
decimal place)?  — . o —

50 ToiFd bl P! NG 2,400 TUY B IR
@ IR9ET g 0.25 99 & U
ﬁwﬁmwwmﬁ%lm

(a) 14.5%
(c) 15.4%




A

P and Q can do a job in 24 days, Q and R
can do it in 30 days, while P and R can
do it in 40 days. X is four times as

efficient as P, Y is half as efficient as Q,
and Z is 2.5 times as efficient as R.
Determine the number of days required
to complete the same job if X, Y and Z
work together.

P 3R Q T4 oM & 24 i # =~ waa &,
Q 3R R 39 30 feAf ¥ & Wad &, Wafd P
IR R TH 40 &A1 § &x 9ad 8| X, P 9
IR A1 B 7, Y, Q | I HIA B, AR
Z, R ¥ 2.5 A1 §9d1 8| e X, Y AR 2 U

() 12 w7 o o & @ T9F o B W@ DA D

(c) 8 L) 10  forn snmawas =i ot dwn fuiRa & |



=~ Yphe cost price of the air-
g/ is 70% below the marked

\ ? price. He offers a further discount of
40 S j 20% if the buyer presents his
‘\,qo m@m of the retailer's store.
The proiit o € retailer with the

3 _\QG 6 P membership card scheme is what
——ee R S percentage of the profit of the retailer

CCP) s W‘tmwm
2@'—"\3 Us el fasar 7 92,000 BUA T BT TR
PSR 9919 W 30% DI BC B =N B |
\'{0 TR HSIIR B $HI I sifdper 1 9 70%

m%lﬁaﬂmmﬁﬁr$&ﬁm

ST $le WRgd YAl & o 98 20% @I

JfiRs BT WM oXaT & ASwal @TS

(a)62%x AT & 9 el fdshar &1 o eyl

70% dre AT & fo91 Gavr faspar & a9 &7
- fapar wiferera 22




The cost price and selling price of rice

are the same. Due to a fa» weighing
@ machine, the seller earns @ profit. If

Rs. x is the cost price of 1000 gm rice

, 000 and the machine is changed which shows

1000 gm mstead of 950 gm, what should

/ be the selling : ow to get the
q S AGL MeR3)
50 3%d Hed 9 & |
ﬁlﬂgﬁmmﬁﬂ$w fdpar 15% @™

990 AT 2| AR T. x 1000 TH AEA HT AR

l 3{{ 7 & 3R 79 951 A T3 B W 950 UM

—l—m ® og 1000 UM feardt 8 A& ga™
e g w1 3 forg 39 Ay o (Pw

) a1 BT A8y’ '!9'”!‘"’¥
/@ (a) 1.0295x “{bj+0259%~ >

] 1.0925x  (d) 1.0950x



Anuj and Anup have to travel from a

ﬂwﬂ place A to a place B in theig respective
cars. Aguj is driving at rn/h, and

4, tak halts of 10_ginutes each, while
n_i ’ nup is driving a/ h, and takes 4
3 halts of 15 minutes each. The time

takes 8.5 hours, is C'L P)L-‘{OQS
+ ¥ el AR Y BT JTN—ITN BRI A
R 4

taken by Anup to ('each Place B, if Anuj
9 WM B d% IJEAT A B aqavf 70
foHl /eier @1 Tfd | TSN T @ 2, IR
TA$ 10 fie @ 3 us[E oar 8, 9efe

80 f&Hd /der & 7fd ¥ TS T =T =,

W15ﬁﬁ‘c’$4mém%|trﬁeﬁvr
@ WM B % Ugdd ¥ 8.5 ©C @A &,

8 hours (b) 7 hours 3U ® ®WE B d® tlgil'r’f q o w99
(c) 4 hours (d) 6 hours GiIT:



D T
2 sh
30 sh
7

3 6N
5= 1.0

Anand covers a certain distance in the
first lag of 5 hours at the speed of 50

km/h. In the second lag, he increased
the speed by 20% due to which he
covered 20% extra distance than that of
the first lag. He covered the third lag at

the average speed of the first two lags
and covered 10% extra distance than
that of the second lag distance. How
much total time (in hO‘TE] did he take to

complete all three lags ClL:ngg Pg(j
Mg 5 TS @ Usdl IJaviad H 50 fHAr/ger
@ 0 9 e [REd & 99 aRar 81 TR
JARTT H S99 A 20% FeT & forgd &R
SHY gl AR B AT H 20% IAF
dg P S ORR o7 & USel &l o T @l




Adrgd i | 99 fhar 3R TR o T @ g0
P g H 10% 3JfaR® g T Y| A
Ul P QX XA H IH G [badl GHY
(eict #) m?

A1 16 (b) 15

(c) %3 (d) 14



If successive discounts of 5%, 10% and
p% are equivalent to a single discount of
31.6“7?‘1{en the value of p is:

I 5%, 10% 3R p% B HHP B 31.6%
P! THel BC D I B, E‘( p & A &:

<;'}§'% m2s (CALR%2 y
M- ae —(31¢)  ARISIOua




A works fast as B, and A
takes 22 days less than B to complete
the job when each works alone. Calculate

the number of days taken to complete
the same job if A and B work together.

A, B 9§ 5.4 AT doll § M T o, 3R A
B BHH QT B H B ¥ 22 T &9 a7 g,
Gd TAP dol HH dal 5| I A R B
Uh R $ Hd 8 o A B DI G

P | o Tl 3T B G=AT B IAUET BN |
1 3

(a)4z lb)4ﬁ
st C |d)4i

32 32



S:1 and Sz are two stations which are 195
km apart. A train stars from S: at 4:00
pm and moves towards Sz at the speed of
65 km/h. another train starts from S: at

5:00 pm and moves towards Si1 at the
speed of 35 km/h. At what time will the

two trains meet?

S1 3R Sz & WA & Sl 195%?%[@
e MW 4:00 §9 S;: A Tl & IR 65
fedt /eier @ fT A S P IR Tl B
O o9 9 5:00 991 Sz ¥ IS BT 8 3R
35 fH /der & fa | 3R gl B |
ﬁﬁﬁmwﬁﬁ?@

(a) 6:06 p.m. (b) 630 p.m.
(c) 6:15 p.m. {d) 6:18 p.m.



A certain amount is ;::t/agx% p.a.
simple interest for 3 rs. Instead, if
the amount was lent\‘s 3x% p.a. simple

E=—

interest for 'y' more years, then the
simple interest would have been seven
times the rrlier interest., What is the

value of y? | (4L 2023 Ae

te fAf¥Ea afdr x% afded ) SuR &) S
2| 3 9¥ & foIU HRIRY A9, s9 99, If
AR 3x% fd I W SR & T o ¢y

IWH Iu & folv UMRUT &I, O AR
TSl Ugel @ &Sl BT AId AT BIdT| y &l

99 T 87 o 3!'@]51'&%

(a) 3
(c) 5 (d) 6



A can do 20% of a work in 4 days, and B

can do 33;% of the same work in 10

days. They worked together for.9_ days
and then C completed the remaining

work in 6 s. B and C together will
complet@f the same work in:

A 5 S T 20% 91T 4 f&AT 4 H Fawar
2, 3R B S R BT 33%%% 10 &= #
B GHdl g | S8iA 9 feAl 9% e 9T dM
foar sikR iR ¢ 7 Ay &9 6 f&A & QI
fiar| B iR ¢ fAear ST o1 &1 75% S
fra T9g # R HA?

(a) 12 days (b) 9 days

(c) 11 days \4ef 10 days



5—]82c0

|12-y1 83008122
5

\%&mﬁl—é x\\&

(a)6 sz X;] 68,520

In January 2022, Kriti paid an EMI,
which was 22% of her monthly salary.
She spent the remaining salary on

shoppi groceries and clothes in the
ratiJE? : E She spent Rs. 18,200 on
shopping of clothes. If, in Febarury
2022, her salary increased by Jd6%, then

wh ebruary"

(;o 25‘#%@1%1»11 &1 Yirar foa,
W S AIRS 9d9 BT 22% IT| S99 9§
aa+ faR™ &7 G 3R FUS DI WIERI |)
7 : 5 @ U A @4 1| 9w FUS @
WIER! T 18,200 %. @4 fhar| Ife, wra<d
2022 H, 99 979 H 16% I gfg gg,

850X 6460 wrad § e d (v %) a o



145 C el
————eeeee®

200-m linear race, if A gives B a
of 25 m, then A wins the race by 10

seconds. Alternatively, if A gives B a
A 249 @ <> start of 45 m, the race ends in a dead
take to run

RIS
.ﬁﬂﬂmsﬁr%lAaﬁzooﬁaaﬁeﬁﬁ
fafl:lTQ'IHﬂ o dl % O (a) 78 seconds

l_g— ‘..Ff §R§ (b) 77 seconds
(c) 78.5 seconds
\Aﬁ/77 S seconds




(a) 77%
(c) 72%

0+40+ 6

' Ys

(b) 74%

(] 76%

In an examination a candidate had to sit
for three papers A, B, and C. The
candidate secured 75% marks in Paper
A, 80% marks in Paper B, and_60%
marks in Paper C. If the weightage
assigned to Paper A, B and C were 40%,
50% and 10%, respectively, then find

the weighted percentage of marks

obtained by the candidate, when all the
three papers were taken together.

Uh TOT H U SHIGAR &I a9 U0 A, B
IR C ¥ 93T AT | SHIEIR 3 UUR A ® 75%
3ih, N B H 80% 3P 3R U C H 60%
3ip U fHe| Ife yR A, B 3R C & feu
MY 9 AN 8, 40%, 50% 3R 10% <, A
SHIGIR §RT U 3l T deol Jfavra sia
PN, 59 Al 9UR U 91T forg 7 o |



Out of the total toffees, 1/1(__)_ are wasted,
%0'0 R0 W 35% of the rest are given to S and 1/8 of
the total are given to N. If the toffees

73 with N are 10 more than the wasted
0%‘ toffees, then how many toffees were

qug'ventOS?

60 TR # ¥ 1/10 9IS & WA &, a5t F1
35% S I f&A1 1T & 3R Gl BT 1/8 N I
fear Srar 81 I N arelt <ot q@ig <ot 9@

WV—0 _10ukw & @ s 2 fooeh et & 70
QL 1% E:a) 126 ) (b) 150

(c) 110 (d) 135



F Hedan RS

A family income is Rs. 35,000 in a
month. The family spends the income on
various expenditures, viz, food, health,
education, entertainment, and rent.
After incurring all the expenditures, 8%
is saved every month. The expenditure
on health is 50% more than that of food.
While food is three times of the
expenditure on _entertainment, the
expenditure on health is half of the
expenditure @ on  education. { The
expenditure on rent is one-third of the
combined expenditure on food, health
and education. How much expenditure
(in Rs.) is incurred on education?

TP TRAR & AT TP HeH ¥ 35,000 B
URIR 3T I DT faf= =af W) @ Fxar



2 O HoM, Wy, R gARed 8k
fovraT | 9R @Y H1 b 91§ & Hel1 8% @I
9d Bl 8] WY WR WY 9eH 9 50%
aﬁﬁﬁiélGﬁﬂﬂmﬁﬁrqﬁnﬂﬁrq?iﬁﬁﬁmﬁrﬁﬁi

AT B, 981 Wy W BN 9rdl @9
fﬁﬁTtﬂ'ﬁﬁfaﬁﬁ?@ﬁLEﬂiﬁﬁﬂiglﬁ$ﬂﬁ'q?
g Wi, Wy 3R REr ) §gw% @Y @
s fagrg 21 Frm w® fhaar =g (P #)

fpar Srar 82
) 12600 (b) 8400

(c) 13200 (d) 7700

®



Having started from the same point and
at the same time, two runners - P and Q
- are running around a circular track of
length 500 m in opposite directions with
the speeds of 6 m/s and 10 m/s,
respectively. If they exchange their
speeds after meeting for the first time,

who ml(lagthﬁkti &?ng point first?

g W gl IH
a’raﬁﬁi—Paﬁ?Q—ms
/ﬂ%aﬂ?101ﬂa/ﬂ$"éaﬁwﬁ‘f$

A
a s fQudia feumeti % 500 #HieR @9 U@
" (Cj e 3% 3 AN ok ds @ ¥ AR A
\/tl/:othPandeillreachatthesame qﬁaﬁﬁﬂﬁibaﬁa]ﬁqﬁwaﬁﬁ
e A yeard g W Waw TEe B g

(d) No one of the P and Q



Tarun owned a plot of land having an
area that was 10% more than the area of

T B the plot owned by Basab, while the area
of the plot of land owned by Nakul was
“ 0 l 0 O 40% more than the area of the plot
owned by Tarun. If the area of the plot

owned by Nakul was 2695 square feet,
what was the area (in square feet) of the
plot owned by Basab?

D | foraaT

| QUR6AS T o e o e 5 o

‘00—_" ﬁ_lﬁ%alﬁasm,mgaaﬁrﬁ$§ﬁm_ Gllg
BT &FABA TOUI

H_D_§_ a;rawgw ﬁ 40% GTW*:ITINH& ﬂg‘;ga%

asre?lam—c-r 2695 T L

ena’rarﬂ'q' WG I &S 3T a3%d

B H) 1 oa1?
>({) 1740
;t) 1780 A%) 1800




A thief steals an item and escapes,

)
running at a speed of 15 km/h. A

\S

policeman arrives at the spot of the
crime after 4 minutes and immediately
starts chasing the thief. 16 minutes after
the policeman started to chase the thief;
there is still a gap of 200 m between the
two. At what distance from the spot of

Niief and what is the speed (in km/h)
policeman?

Th dR Udh a% 9ol & 3R 15 f&#r /ger
@I T |/ 9RTET 2| 4 A 9E

BT — T — IREM W Jgaam & R qra @R

&1 WIBT AT YOS PR <l & 16 fAFe 918

9 AR BT VT AT P foar; =1

dra arft ft 200 HieR BT AR B AWM

e A fhal O R gforaadil IR @ The



o 3R gferaedt @ wia (N /ger H) @
27

(a) 5.5 km; 16.5

(c) 6.5 km; 19.5
(d) S km; 15



<=

(a) 15 km; 25 km/h
(b) 14.4 km; 24 km/h
(c) 10 km; 25 km/h
(d) 12 km; 24 km/h

A thief steals an item and escapes,

running at 20 km/h. A policeman arrives
at the spot of the crime after 6 minutes
and immediately starts chasing the
thief. 24 minutes after the policeman
started to chase the thief, there is still a
gap of 400 m between the two. At what
distance from the spot of crime would

the policeman catch up with the thief,
and what is the speed at which the
policeman ran?

U IR Uh 9% AT © AR 20 & /ser
o T | HESR 9FT ST &) 6 fAMe 9.
U gferaadl Aldb—U—aRard IR Ugedm 8 3R
qRd AR BT NBT HAT YH Y Qdl 8. 24
fie 9 o9 giem®dl AR &1 98T
o, a9 fT <9 @ €19 400 HieR & IR B
IR WA 4§ fhat & R gfergapdl IR 3l
ghe AR gferaedt fea wIfar & wrm?



R’s weighing machine shows 400 gm
when the actual weight is 350 gm. The
pst price of almonds is Rs. 880 per kg

packets m are made using

& fault ine. What should be the

1 Q 5 selling price (in Rs.) each packet to get a
e S 3

79 R &1 999 400 IM fR@rh 8 wefe
qdfd® 999 350 UM B | 9IQTH BT Y A
880 ¥UY Hfa fdell 3| @@ w9 & 200 I
—_—S T @ YT 1Y O B | 25% BT A W< B
(@ for 7% Yo o1 A e (o )
*"/H/mﬁ'?' BT AMRT?

(a) 197.50 (b) 175.50 D

(c) 182.50 uﬁrl’gz.so



The force (in pound-force) needed to
keep a car from skidding on a curve
varies directly with the weight of the car
(in pounds) and the square of its speed
(in miles per hour (mph) and inversely
with the radius (in feet) of the curve.
Suppose 6125 pound-force is required to
keep a 2750 pound car, travelling at a
speed of 35 mph, from skidding on a

nre of radius 550 feet. How much

G\QS 4—50 SL)(':l' und-force is then required to keep a
600 pound car, travelling at a speed of
SS‘D 360X W5

O mph, from sklddm urve of
o 16\3\\ x@l

radius 750 feetPCQ[ R AW
') @ R B A mﬁjﬁgmﬁm
IR AR Ny (s ) sh w11 & i (ot 7



(e ufa &) # iR BPoar & fawia = gian
g) A oiforg fb 35 #irer ufq o @t wfd &
YT B & T 2750 UISS Pl BR Bl 550
e B 9 A W) fP9ee ¥ 9M @
folT 6125 USS—9d DI AGIIHAT Bl & A
fR T& & 990 Y@ @ forg fda aSs—ad
@ JEIIHAT Bl © 3600 USS &I DR, 50
Hier wfcr €S @ T | I FRA g, 750 BT
e & A W) f9e™ W 8N |

@11960%0  Dfa12150
)41;12240 -9 12000



D
3/'

Rini has mixed two colours ‘C;’ and ‘C7>’
in the ratio 2 : 3. If the rate of the colour
‘C1’ is Rs. 500 per unit and she is selling
the mixture of the two colours at Rs.
650 per unit at breakeven price, then
what is the rate (in Rs.) per unit of the
second colour, that is, ‘C2’?

R 7 a1 90 ‘«C? 3R C2? T 2 : 3 @
Iurd # fAemar g1 afe 31 ‘c 9 ufa gfhe
X 500 ¥UY B | 98 T M > fAsor & ufa

G2l
e SHga DIFd W 650 BUA H 99 @I
dl gER 9T, I ‘C’ BT AT e =R
H) T 82
4) 750 (b) 725
(c) 760 (d) 765

o

r

i



In a circular path of 600 m, Pankaj and
Rohit start walking in opposite
directions from the same point at the
speed of 2.85 m/s and 5.4 km/h,
respectively. After how many minutes
will they meet for the f{irst time?

(Rounded off to one decimal point)

600 HIcY @ TOPR UY W, Udhe AR Afd
Udh &l fdg | B 2.85 WS /Ads 3R 54
fdft /eier o nfd & o femslt § e

e I gl 9 fho fee 9 ugell IR

£ ) E?Z’Z“E”Wﬁ@' > &)hnlh

68

(c) 2.7 (d) 4.7 $Y Té,._'i






